Anna Lopez sells timber in a perfectly competitive market. Incomes increase and many people buy new homes. 
The price of timber remain unchanged
Profits fall
The price of timber to rise
Firms to leave the timber business

If a monopoly firm is selling the seventy-fifth unit of the output at a price of $30., the in order for the firm to sell 80.
$30
Greater than $30
Equal to marginal revenue
Less than $30
Equal to marginal cost

In a perfectly competitive industry if TR>TC, then in the long run
Firms will exit the industry
New firms will enter the industry
There will be no change in the number of firms
Market supply will shift to the left
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